g \ﬁf’\ Paper / Subject Code: 77504 / Numerical & Statistical Methods

(2%~ Hours)

N. B.: (1) All questions are compulsory.
(2) Make suitable assumptions wherever necessary and state the assumptlons made
(3) Answers to the same question must be wrltten"togethe B
(4) Numbers to the right indicate marks.
(5) Draw neat iabelled diagrams wherever necessary.
(6) Use of Non-programmable calculators.is ﬁlld%i'ed;

g'it can be categonzed 7
5% ofthe body wemht

1. Attempt any three of the following: >
Water accounts for roughly 60% of total b

of the total body weight and 7. 5%
the body weight, which is 20%:«

what percent of total body
total body water must th'
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16.94410, / (83) =

1756492, f (8.6) = 1850515,
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3.  Attempt any thre of the followmg

o

x+y+z~5
2x+ 3y ¥ 52=8

, dx+52=2-
b. Use the Gauss Seldel 1terat1ve technique to find apprc

2a—b+ 2%
c. Given log 280 = 2.4472, log 281 = 2.4487;
|5 (togn)] ‘
x=280
d. Evaluate the following using Srmpso
T oosin‘n ‘

Jo 5 + 4c059

wrth Wheat and barley. He can earn X 5,000 for
3,000 for every acre he plants With barley His

14 customers to make their own Jewelry Customer can

v 15 Grace wants to design her own Halloween necklace from

A ranoe and bIack bead She ants to make a necklace that is at least 12 inches long, but
<, no 1 more than ‘24 inches fong. Grace also wants her necklace to contain black beads that
. are at least twrce the length of orange beads. Finally, she wants her necklace to have at

2 lea.st 5 mch‘ of black,vbeads

. sketch the problem and ﬁnd the vertices (intersection points).

[TURN OVER]
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Q.P. Code: 33412

A garden shop wishes to prepare a supply of special fertili
mixing two fertilizers, A and B.
The mixture is to contain: at least 45 units of phosphate; a
at least 40 units of ammonium. Fertilizer A costs --t

Attempt any three of the following:
The amount of bread (in hundreds of pounds) X that
found to be a numerical valued random phenomenon
the probability density function fx), given bjy

:ex’tam bakery isable to sell ina day 1§,
\ 1th a probabxhty functlon spemﬁed by

11.

e more than 500
e less than 500 p

Ve 2.1 Assummg that 1o machme needs adjustment tw1ce on the same day, determine the
o ‘probabmty that on a paltlcular day
T, »’ 1 Just 2 old and no new machmes need adJustment
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